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Post-lab Questions

1. How many groups of elements are in your group’s table?

2. What are the groups and how did your group decide which group elements belonged to?

3. Does your table have a horizontal trend in atomic mass or a vertical trend in atomic mass? Describe all trends.
4. Which elements, if any, did not follow these trends? Describe how you arranged these elements.

5. Does your table have any holes or gaps? Where are they located on your table? What do these holes or gaps mean?

Answer KEY

Post-lab Questions

1. How many groups of elements are in your group’s table?

Eight groups
2. What are the groups and how did your group decide which group elements belonged to?

Answers may vary, but an example is:

The groups are elements with similar properties shown on their cards. They form similar compounds and are arranged in order of atomic mass.
3. Does your table have a horizontal trend in atomic mass or a vertical trend in atomic mass? Describe all trends.
Atomic mass increases across the table (left to right) and down each group.
4. Which elements, if any, did not follow these trends? Describe how you arranged these elements.

A possible answer is that iodine and tellurium break the trend when arranging the elements by ascending atomic masses. Iodine and tellurium switch places when you try to fit them according to other properties. For example, iodine fits better with fluorine, chlorine, and bromine while tellurium fits better with selenium, sulfur, and oxygen.
5. Does your table have any holes or gaps? Where are they located on your table? What do these holes or gaps mean?

Possible gaps may be present in the families or groups of boron and aluminum, and carbon and silicon. The gaps/holes may mean the presence of undiscovered elements at the time of Meyer and Mendeleev.
